Yr10 Science  Biology Test Revision

1.  Match each of the following description/statement with the appropriate terminology.

	C
	Haploid 
	Two sets of homologous chromosomes.
	A 

	F
	Gonad 
	Is the result of independent assortment. 
	B 

	I
	Asexual 
	The number of chromosomes in a sperm. 
	C 

	A
	Diploid 
	Is made up of a phosphate, a ribose and a base.
	D 

	P 
	Sexual 
	Transfer of pollen from anther to stigma. 
	E 

	X 
	Mitosis 
	Meiosis takes place here.
	F 

	M
	Anther 
	Sperm or ovum is one. 
	G 

	B
	Variation 
	Number of daughter cells produced by meiosis. 
	H 

	R 
	Ovary 
	Does not produce genetic variation. 
	I 

	L
	Meiosis 
	Sister chromatids separate.
	J 

	N
	Identical 
	Chromosomes line up in the centre of the cell. 
	K 

	G
	Gamete 
	Produces haploid daughter cells. 
	L 

	Y 
	Gene 
	Pollen is produced here.
	M 

	T 
	Homologous 
	Genetic make-up of cells undergoing mitosis. 
	N 

	E
	Pollination 
	Bonds with Guanine. 
	O 

	U 
	Fertilisation 
	A type of reproduction that produces genetic variation. 
	P 

	W 
	Prophase 
	Make up the rungs in a double helix.
	Q 

	K
	Metaphase 
	A female gonad. 
	R 

	J
	Anaphase 
	Found in the nucleus of a non-dividing cell. 
	S 

	V 
	Telophase 
	Chromosomes carrying similar genes.
	T 

	S 
	Chromatin 
	Fusion of two gametes. 
	U 

	D
	Nucleotide 
	Chromosomes uncoil and nuclear membrane reform. 
	V 

	O 
	Cytosine 
	Chromosomes condense during this stage. 
	W 

	Q 
	Nitrogenous base
	Produces diploid daughter cells.
	X 

	Z 
	Crossing-over
	The smallest functional part of a chromosome. 
	Y 

	H 
	Four 
	Exchange of genetic material during metaphase. 
	Z 


2.  List three advantages of sexual reproduction. 

Genetic variation. 
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Avoid extinction due to a catastrophe.
[image: image2.png]Matix

L Contomere

~ Chvomaids

Homologous
chromosomes

b

sndupitated  duplicated

cated)

Homologous
chromosomes
08_02.jpg

Visitpage  Viewimage

Sister Sister
hromati h

o
ONAGoubl by

1008PM |
4/06/2015




Two parents looking after offspring.
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3.  List three disadvantages of asexual reproduction. 

Only one parent looking after offspring.
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No genetic variation. 
[image: image6.jpg]base pairs

sugar-phosphate

contairing
G sugar [ = bases

et
&)
= 7
S
e

© 2007 Enoyclopadia Britannics, Inc.



Vulnerable to disease because of identical genes inherited. 
4.  Some organisms can reproduce both sexually and asexually.  Using an example, explain the advantage of such a characteristic. 

A fungus reproduces sexually when it is under stress and produces spores that will survive the harsh conditions.  When environmental conditions are optimal it will revert to asexual reproduction to take advantage of the climate conditions and reproduce quickly.

5.  Illustrate how chromosomes behave during meiotic cell division. 












6.  Describe the function of the following organelles. 

Golgi body – modifies protein and packages molecules for transport outside the cell.
Endoplasmic reticulum – present a surface for chemical reactions and stores and transports molecules.
Ribosome – a site for protein synthesis.
Lysosome – digest foreign particles and worn-out organelles. 
Mitochondria – a site for energy production through aerobic respiration.
Vacuole – stores food particles and water.
7.  Describe each of these individuals from their following karyotype.


Female 



Male



Male 

Turner syndrome


Down syndrome

Klinefelter syndrome
8.  Dolly the sheep was cloned back in 19xx.  What type of reproduction would Dolly most likely be classified under? Justify your answer. 

Asexual, because the chromosomes of Dolly are identical to the chromosome taken from a donor’s skin cell.  This diploid number of chromosomes is inserted into an empty egg that had its haploid number of chromosome removed.  Therefore, the egg becomes a diploid cell and starts to divide by mitosis to produce an offspring that has the exact genetic detail as those that came from the skin cell of the donor.

9a.  Label the following structure of a chromosome. 


9b.  All living things have the basic four nucleic bases in their DNA.  Explain why don’t all living things look similar. 

Because the sequence of these base pairs is different in
different organisms. 


10. What type of reproduction would you 

classify cloning under?  Justify your answer.

Asexual, because the genetic material that is
used to produce the offspring is identical to that
of the parent.
Base pair 





a





b





Nucleotide 





c





Ribose 








